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However if he blinded his eye and killed him with something else, I
would say, take money from him and kill him

Overview

The X 3 is now saying that we require the third 05 (of 071 93) to teach us that
since we may have thought that the rule of 71 712772 72 op (which is derived
from MoOX 770 X77) is only in a case where the wound (W°v nX X»°0) and the death
came from the same blow, however if one blinded the eye and the death came
about through another (simultaneous) blow, perhaps he is punished twice; he pays
(to the heirs) for the eye, and is killed for murder, therefore the third 105 teaches
that even in this case we rule n"2%p and there is no monetary payment.
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This is how the text reads according to the 1''a (as cited in the heading of this
'01n), meaning that from oKX 7979 X2, we can only derive the rule of n"2%p in a

case where 72 1377 115V DR XM, in one blow -
= TN DN NYNN NN 191 HNN ANINAY DNN D

Just like there in the P05 of 1oX 770 X971, that he Kkilled the woman and the

fetuses with one blow -
- 311"1\99’}35 oI v TI08N 9919 XY HNN N2 NN 93272 9397 1% NN NND YaN

However if he blinded his eye and killed him simultaneously with another
blow, he is not exempt from paying; this is what we may have thought, therefore
we require the third p109 of 2917 %2 to exempt him from payment even in this case.

mooIn asks:
— 411‘,71‘1:1 12 93NY% *29 S 133 HNVYNIY? Y29 NNT ON9AN 2 Punv 99%24Y nvp

And the X''2w= has a difficulty with this X093, for P12 32 9" w w2 "' -

! This also seems to be the X0 of >"wA. In our M n3 (however) the word 7°5upN' is lacking. The & nx could
possibly mean 7799w81 1 X1 7pwrl. See later in this NvoIN.

* See 22,X3 (2'vdwn) M where the 77N writes "3 Wiy? Wity Jio8 7973 KDY 70797 IR 777 AWK D) WK 183 *2). We
derive from this 7109 that the aggressor pays (v1y> wiy) for the fetus, only if 170K 7> X2 (the mother does not die),
however if the mother dies and he is 7n 21 for killing the mother, he is exempt for paying for the m721 (on
account of n"2%p).

3 According to this X073 two of the three 2’109 teach us that both by mbp mnm and m»n mn» we do not take
money to exempt him from being executed, and the third P10 teaches us that he does not need to pay (2"2%p) even in
a case where the wound and the 7in°n were caused by separate blows.

* He is the xan of the Xn»72 regarding the negation of payment to exempt one from an>» both by nymm mvp nminv.
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Does not expound the 192 in this manner that we should not take money from
him and also kill him, but rather 2"2>7 5w 112 >"3 expounds the P05 to teach us
that we should not take money to exempt him from death —

mooIn offers a possible answer:
- 311997 1112939 (0w n,am 47 PaTMIL) 12T AN PID YWY JNIUNT ININD NI RY 199N RNPDYI

And perhaps 2"27 5w 12 *"1 said his ruling,” (only) if the 7mn would not have
written the wp°n of 7P °27 Xin, as we find this type of an explanation in the
beginning of 15777 9132 92 and in many places —

mooIn offers an alternate solution:
- 595910 %27 NINT XIIN PYDM NINT AN DNIAN )3 PUNY 19539

However it appears to the X''aw= that X1 72 7 here concludes according to

the n''7n, and 121 is not attempting to explain 2"2°7 5w 112°" -
= TN 2241 NINT NN 199 195 INT) NP 3495 YaN

However 2"2>7 5w 112 5''1 certainly disagrees with the n''7n —

mooIn offers some support to his contention that 2"2°7 5w 112 °"1 argues with 1"7n:
= 9PN 22T NINT 159 HONT INND RNN (0w 3,79 97 0w) PPININ YWIIA 9INRT NI

And this which the X2 states in the beginning of PP pao, ‘this is well

according to the one who agrees with the r''7n -
=9 NNY RYIPIN DY 5HYDT INNPY NON

However according to the one who disagrees with it, why do we need a wp"7’
this concludes the citing of the X773 in 1°717710. N190IN concludes -
- 9nnY? 139 13550 NYPIN 927 1YY YT NN

% 2"2" Hw 112 °" was expounding the P09 of 271 and 271 93 to teach us that both by m»n mn» and NP MmN, one
cannot exempt himself from 70" by paying money. How can a1 92 °»7 now (interpret this same &n*12 of w12 °"9
2"2 and) say that o1 95 teaches us that one is not obligated to pay in this case of n"2%p. 2"2°7 is saying that the
7109 teaches you cannot pay and be exempt from death (we are being stringent), and we are now saying that it
teaches you are not required to pay if you face the death penalty (we are being lenient).

% See x,X0 n"2. In those places the X3 interpreted a Xn>>72 that it was taught only if the 70 would not have told us
differently, w">y.

7 See (the beginning of) footnote # 5. If there would not have been the w1 of 10, we would have expounded %>
o1 to include that even by n2p minn (like 77> 777) where 7793% 03w N1, nevertheless one cannot exempt
himself (from 7in°»). by paying money. However now that there is the w1 of n"7n which compares %y 777 and 717
777, we do not need the o7 23, for 77> 717, so we can expound the 27 95 for MR 1272 137 1Y DX X0 that he
does not need to pay, since it is a case of n"27p.

% 07m 95 teaches regarding 1y nX ¥2°0, for 1170 does not require a P05 regarding 77 777 (or MYpP MMR)

? " maintains we need o7 95 for (77 717) N9p Mok since he disagrees with the w1 of n™n.
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The Xin who does not agree with i''7n; it is 2"2°7 5w 112 %''9 cited here -
=919 0P NN NYTINY RN YITN 9987 129D 9INPT TIN0)

And when the Xn) states shortly, ‘and according to ;729 who maintains there is

a novelty by ®1p, etc. that he pays and is killed’, what will he derive from 031 73? The 873

answers we will need to say that -
- noany 13 X930 397 NP XIND 1Y 930

‘a9 agrees with the ''n of ¥''3m9°, Mmoo comments that according to the X"aw -
$INYNY?Y 2295 19D N0 99990 281 N

The X3 could have just as well said that 727 agrees with 2"2°7 5w 112 "' that 2>
291 is for Mop M.

Summary
Either the 7w17 of 2717 %5 to include even 77°7° 717, was meant if we did not have

the wpn of 07N, or 2"2°71 5w 112" and n"7n disagree with each other.

Thinking it over
Initially the X713 stated that o7n 95 is referring to the case of 3112 X¥11, according

to the P"n of X°2pY 12 X117 °27. The X1 then continued that according to ¥"2n7 the
P09 of 07N 93 is according to 2"2 HWw 12 °"1 regarding M2y mnn (by 37 7).
Now that the X"2w1 maintains that there is a dispute between n"7n and 5w 113"
2"2, why do we need to establish the 0711 93 (according to the 1"7n) by nX X»°0
"1 10V, let us say that according to n'"7n the 07n 93 is for A17°% Xx1°7, like the p"'n of
y"ana?2!"

1 See previously *m 71" 71n X,719 TIE footnote # 19.

' See previously on 2,7 the view of the p"n that one who says *2¥ 127 regarding one who is 372 Xx, his words are
meaningless and we derive it from 091 93, W',

" See X" and 0",

3
TosfosInEnglish.com



